L) BORE T x0sd 1 12 ] A

Total No. of Printed Pages : 12 ]
e, BIRY Road; 1 47 |

Total No. of Questions : 47 ] CCE RR

UNREVISED
96-E FULL SYLLABUS

96-E

Rode3 23093?3
Code No.

O I z ‘ON [erras 1aded uonysand

NRWOD | WPETo:
Subject : ECONOMICS

( aen=' =nGy.=0 / English Medium)
( RSoox=ees 2ooe wiy e/ Regular Repeater )

(L2l

&0z : 19. 06. 2023 | [ Date : 19. 06. 2023
R0 : B3¢ 10-30 00T HGRE-1-45 USSR | [ Time : 10-30 A.M. to 1-45 P.M.
TTTPRO @woznsh 1 80 | [ Max. Marks : 80

General Instructions to the Candidate :

1. This Question Paper consists of objective and subjective types of
47 questions.

2. This question paper has been sealed by reverse jacket. You have
to cut on the right side to open the paper at the time of
commencement of the examination. Check whether all the pages
of the question paper are intact.

3. Follow the instructions given against both the objective and
subjective types of questions.

Figures in the right hand margin indicate maximum marks.
5. The maximum time to answer the paper is given at the top of the

question paper. It includes 15 minutes for reading the question

paper.
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Four choices are given for each of the following questions /
incomplete statements. Choose the correct answer and

write the complete answer along with its letter of alphabet.

10x1=10

The Central Bank of India is

(A) Bank of India

(B) Canara Bank

(C) Indian Bank

(D) Reserve Bank of India

Hatti Gold Mine is found in the district of

(A) Kolar (B)  Udupi

(C) Raichur (D) Bidar

The first nuclear power station was established in India

at
(A)  Tarapur
(B) Narora

(C) Rana Pratap Sagar

(D) Kakrapar
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4. “If population growth is not reduced consciously it will

affect development” was explained by

(A) Adam Smith

(B) T.R. Malthus

(C) Lionel Robbins

(D) John Marshall

5. The Ryotwari system was introduced by

(A) T.B. Macaulay

(B) Jonathan Duncan

(C) J.S.Mil

(D) Thomas Munro
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0. The land tenure system introduced by William Bentinck

during British rule was

(A) Zamindari system

(B) Ryotwari system

(C) Mahalwari system

(D) Raita Mitra System
7. NABARD was established in the year
(A) 1982 (B) 1985
(C) 1992 (D) 1995
8. The Act implemented in 1948 was
(A) Bonded Labour Abolition Act
(B) Minimum Wages Act
(C) Employees Compensation Act

(D) Factories Amendment Act
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9. A measure of poverty, keeping in view the economic

conditions of a country is

(A)  Absolute poverty

(B) Relative poverty

(C) Continuous poverty

(D)  General poverty

10. The headquarters of Reserve Bank of India is in

(A) Lucknow

(B) Delhi
(C) Chennai
(D) Mumbai
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II. 11. Match Railway Zones of list A with their headquarters

in list B and write the answer along with its letter of

alphabet : 5x1=5
A B

a) Northern Railway i)  Gorakhpur

b) Southern Railway ii) Kolkata

c) North-Eastern Railway iii) Hubli

d) Eastern Railway iv) Allahabad

e) South-Western Railway v) Hajipur

vi) Chennai

vii) New Delhi

III. Answer the following questions in a word or sentence each :

15x1=15

12.  How many banks were nationalised in 1980 ?
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

7 96-E

What is the main reason for seasonal based

unemployment in our agricultural sector ?

What is soil erosion ?

Give two examples for renewable resources.

Write the meaning of population policy.

Define ‘manpower planning’.

Mention the two types of well irrigation.

Why was Minimum Wages Act implemented ?

Mention the meaning of productive credit.

What is poverty ?

Give two examples for non-metallic minerals.

“Suitable volume of foreign exchange reserves are

required to a nation.” Why ?
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24.

25.

26.

8

Mention the meaning of trade.

Which is the highest exported item from India ?

What is foreign exchange rate ?

IV. Answer the following questions in about two to four

sentences / points each : 14 x 2 =28

27.

28.

29.

30.

31.

What are the social characteristics of underdeveloped

economy ?

India can be considered as developing country. Why ?

Explain the importance of mineral resources.

Explain the role of human resources in economic

development.

Name the institutional factors which help to increase the

agricultural production.
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33.

34.

35.

36.

37.

38.
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List out the institutional sources which provide

agricultural finance in India.

“The small scale industries are facing many problems.”

Justify.

Name the institutions started by government to provide

training facilities to farmers.

Name any two national level labour unions.

“The Reserve Bank of India performs wide range of

promotional functions.” Justify.

What are the programmes undertaken by the government

to overcome the poverty in urban areas ?

Name the important publications of Reserve Bank of

India.
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39.

40.
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“Indian Railways have an important place in economic

development of the country.” Justify.

How does Reserve Bank of India regulate finance

system ?

Answer the following questions in about five to six

sentences / points each : 6 x3 =18

41.

42.

43.

44.

45.

46.

What are the social reasons for the increase of population

in India ?

Explain the reasons for the failure of land reforms.

Explain the need of agricultural finance.

List out the various agricultural works.

Explain the Integrated Rural Development Programme.

Mention the differences between internal and external

trade.
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VI. Answer the following question in about eight to ten

sentences / points : 1x4=4

47. Explain the importance of small scale industries.
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